T IVI b v https://tm.by

m— L ine sTon WNHTepHeT-marasumH



—

6mm (x1)

1. Wall plate installation
YcTaHoBKa KpenneHUA Ha CTeHy

1-1.Stud wall installation.

IMPORTANT: Holes' depth in the wall must be 55mm (2.2") minimum

YcTaHoBKa KpenneHna Ha AepeBAHHYIO CTEHY.
BAXHO: rny6uHa oTBepcTHii B CTEHE [OMKHbI 6bITh He MeHee 55MM (2.2")

3. VESA panel installation to the TV
YcranHoska VESA naHenn k TB

OR

T |V| h v https://tm.by

NN ONLINE STORE MHTepHeT-MaFa3I/IH

B (x1)

E

—————Cc )

W-A (x3) W-B (x3) W-C (x3) M-F (x4)
M4x12 (x4) M4x16 (x4) M6x12 (x4) M6x16 (x4)
M-A M-B M-C M-D

1-2. Masonry/Concrete Wall.

ONKRON

designed to support

G120

. Min-max weight VESA
Screen size - 1-8k Tilt
WS [\ g © 75 x 75, . .
13554 O] 22-176lbs @  100x 100 mm -35°~+35
Height adjustment A Wall distance i ;
280 mm M fg’gfl L 99 - 361 mm 0/ gré%m:atuon
1" /5 J 39'-14.2" —

IMPORTANT: Holes' depth in the wall must be 60mm (2.4") minimum

YcTaHoBKa KpenneHUA Ha KannuTanbHYIO CTEHY.

4. Hang TV on the Wall mount
HaBecbTe TB Ha KpOHWTEWH

-

BAMHO: rny6uHa oTBepcTUil B CTEHE AONKHbI 6bITb He MeHee 60MM (2.4")

5. Cable managment system
MponoxuTe npoBoga B Kabenb-KaHan

2. Installation rubber plug
YcTaHOBKa fileKOpaTUBHbIX 3arayLieK

6. Hang TV to the mount weight
OTperynupyiTte KpoHwTeWH nog sec TB

In order to setup the mount for your TV's weight, gradually turn the screw:
tighten to "+" for heavier monitors, loosen to “-* for lighter ones

[nA HacTpoiKK Nod Bec MOHMTOpPA NOCTENEHHO BpaLLaiTe KiioY: B "+" ANA TAMENbIX
TB, uTo6bl 3aTAHYTL ra3nuT, a B cTOpoHy "-" AnA 6onee NErkux, 4tTobbl 0cNabuTb





